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e 5,436,647 3,959,924 1,476,723
= 1,686,648
Al 3,749,999
SX 2 dEsH 2o 3,596,172 2,636,910 959,262
= 1,314,648
Al 2,281,524
g s3=X MUlA i 3,596,172 2,236,910 1,359,262
= 1,314,648
Al 2,281,524
Ji=dHs HE EEHAH 2= 200,000 200,000 0
307 glz2tol & 200,000 200,000 0
02 QItA AR E X 200,000 200,000 0
Ood 39 = 24 200,000, 000& 200,000
ELEF 2 53,500 33,500 20,000
201 LEH2HHI 3,500 33,500 A 30,000
01 At 22l dl 3,500 33,500 230,000
OEZsIN=HY M= S 3,500,000 3,500
401 Al EHI S S OHYI 50,000 0 50,000
01 A& HI 50,000 0 50,000
OEL2F AMEHEZAL AIZIHH 50,000, 000& 50,000
A58 S 903,500 0 903,500
201 L B2 F Hl 3,500 0 3,500
01 At 2telbl 3,500 0 3,500
Oxs8liisztel NERFE 2 HAxE S
3,500, 000& 3,500
207 & SO 2 h| 900,000 0 900,000
01 A&l 900, 000 0 900,000
OloTIIBt ADIE AS22AAE 15 29
900,000, 000& 900, 000
2 Dol 22l 2,700 2,700 0
201 L Er2IH| 2,000 2,000 0
01 AFR2teltl 2,000 2,000 0
OLZoi2cleds 2&d &=L S 2,000,000 2,000
202 o4 Hl 700 700 0
01 =2 LHO HI 700 700 0
Odzdiztel 88 M S 700,000 700
14,700 14,700 0
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307 212H0| ® 3 50,000
Al 50,000
02 SIAHMARRE 100,000 100,000 0
OP[E - M 100,000,000 100,000
= 50,000
Al 50,000
BAEOEH 29 346,300 453,000 A106,700
= 224,400
Al 121,900
301 QYRS 30,000 30,000 0
= 15,000
Al 15,000
12 JIEtE & 3 30,000 30,000 0
O240tA HLSX QMES XS 30,000,000 30,000
= 15,000
Al 15,000
308 XX € 7 S 0l & 316,300 423,000 A106,700
= 209,400
Al 106,900
R ERCES! 316,300 423,000 106,700
OS24t~ MLIIE QMEE XS 307,500,0002 307,500
= 205,000
Al 102,500
ONEX BAEIAEH 2 8,800,0002 8,800
= 4,400
Al 4,400
SPITIGHRRIANS (2 0HE E AL 80,000 65,000 15,000
308 XX € % S 0l & 80,000 65,000 15,000
01 HAESHBLSES 80,000 65,000 15,000
O&etmlsh 2201 X2 80,000,0002 80,000
S 0lE XX 877,872 1,045,410 A 167,538
= 585,248
Al 292,624
308 XbXI €1 S 0l & 877,872 1,045,410 £167,538
= 585,248
Al 292,624




4o
fa
o

8- 2H - ZH-G(EH) - HRAY - HES 0l ko e 52
01 REXIEHXI 877,872 1,045,410 A 167,538
O=d0lE ™ 877,872,000& 877,872
= 585,248
Al 292,624
ststE2 & otd 24,700 21,700 3,000
201 LBr2d 9,000 6,000 3,000
01 At 22l 9,000 6,000 3,000
Ostat2a B B4 2o S
6,000, 000& 6,000
OststAtD = Il =8l 3,000, 000& 3,000
202 o4 Bl 700 700 0
01 =AYl 700 700 0
Ostst= & ot = 700,000 700
307 2120l A 15,000 15,000 0
12 QI2HoI 2| & 1 | H| 15,000 15,000 0
Oxndiztet2d otdzel nsilA 15,000, 000& 15,000
AUSIE 22l 700 700 0
202 o4 1l 700 700 0
01 =2 LHO HI 700 700 0
OAWBIIE 22 EHEXZA S 700,000 700
HAY sFLAHMEH 2 XN 600,000 0 600,000
= 300,000
Al 300,000
307 2120l A 600,000 0 600,000
= 300,000
Al 300,000
02 QB HAMSEX 600,000 0 600,000
OAYGd 3B HdH 2IXE 600,000,000& 600,000
= 300,000
Al 300,000
SHEEAH I Hs 110,000 0 110,000
201 L B2 F Hl 9,000 0 9,000
01 At 22ltl 9,000 0 9,000
OXNSsZEAR/AEE B3 =& S 6,000,000& 6,000
OAZIE AL 2 =2 S 3,000, 000& 3,000
202 04 1,000 0 1,000
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IENEEI 1,000 0 1,000
OBHRH WX BHEA S 1,000,0002 1,000
207 &4 2N bl 100,000 0 100,000
01 ARE | 100,000 0 100,000
ONYSBALANEY 42 89 100,000, 0002 100,000
RelEy et 1S 1,530,910 1,006, 654 524,256
2 372,000
Al 1,158,910
ReEY o GMSAS 25, 2 1,530,910 1,006, 654 524,256
2 372,000
Al 1,158,910
MEER ST 1,200 11,200 £10,000
201 LBt bl 1,200 11,200 A10,000
02 B2 1,200 1,200 0
OMEIE2 SN 22 2822 S 100,000 128 1,200
O S - A 25 286,500 76,500 210,000
201 LBt 2| 36,500 6,500 30,000
01 AFR 22t 36,500 6,500 30,000
OOl SAE 2592 57 6,500, 0002 6,500
ORNGHE(154) S AHES =Y £I| B
Al 30,000,000 30,000
207 &4 K 2 bl 50,000 50,000 100,000
01 e A 50,000 50,000 100,000
OOFAl 2HE HAX ZA L SHOHY +28
(ZOI014F, '2281Al) 50,000,000 50,000
OOIFBAN OFMME 85 U OIMES 2L
NEHE 48 29 100,000, 0002 100,000
307 812+0| ® 30,000 0 30,000
02 SIAHAMAYEE 30,000 0 30,000
Oz D8 ¥ &% T2y K2 A
30,000,000 30,000
308 XX £+ S 01 & 20,000 20,000 0
0 HXSHIAEES 20,000 20,000 0
OR4gs OFMSS TE 2 XBH A
20,000,000 20,000
401 A& B 2 2 TH bl 50,000 0 50,000
01 Al 50,000 0 50,000
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O &XctE (15H) SUN AUHE E232 =4
A 50,000, 000& 50,000
PSSO At 126,000 126,048 A48
= 84,000
Al 42,000
403 X HMS 201 H 126,000 126,048 A48
= 84,000
Al 42,000
01 XS A2E = 126,000 126,048 A48
OOt =2 HoioZAld &Xd K& 126,000,000 126,000
= 84,000
Al 42,000
ZNHNESR 2222 835,210 681,240 153,970
= 100,000
Al 735,210
201 LEr2IH| 82,960 94,840 A 11,880
01 AFR2teltl 50,000 50,000 0
OXN&E3d 2 50,000, 000& 50,000
02 3323l 6,960 6,840 120
OXNESE 2 6,960,000 6,960
03 dAt2HHI 26,000 38,000 A 12,000
OXNZZ3 BLHA S 26,000, 000& 26,000
202 o4 1l 13,000 13,000 0
01 =Ll 13,000 13,000 0
OXNESE & £F 13,000, 000& 13,000
203 B2 =& H| 3,600 3,600 0
03 Al® =21 R AH| 3,600 3,600 0
ONMALRFEHI 3,600, 000& 3,600
207 A IRl 150,000 50,000 100,000
01 22 EHHI 150,000 50,000 100,000
ORUAZ NAXNZESE 25 = M =8 29
30,000, 000& 30,000
OHgaEs, HaE, 238 NERM MBS =T AM
29 120,000, 000& 120,000
301 LEtE2E N Z 326,650 266,800 59,850
= 100,000
Al 226,650
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09 HALAHIXI& 3 15,250 20,000 A4, 750
OXNZEZSJ YA S 15,250, 000& 15,250
12 JIEtE2 &= 311,400 246,800 64,600
OXZEZ& A 29 311,400, 000& 311,400
= 100,000
Al 211,400
307 gIz2tol & 42,000 42,000 0
02 QItB AR E X 36,000 36,000 0
OXNZEZ& ALME g4dst 36,000, 000& 36,000
12 QI2HoI 2| & ) = H| 6,000 6,000 0
OXNEZSE HEAM NS 6,000
401 Al EHI 2 2RI 200,000 201,000 21,000
01 Al&HI 200,000 200,000 0
OXNZEZE ELAE =4 200,000, 000& 200,000
405 RHatE SH| 17,000 10,000 7,000
01 HtMH=EEFHSHI 17,000 10,000 7,000
OX&ESA ot 238 ¢ 17,000, 000& 17,000
MEHH DS ME S XIALY 97,500 90,000 7,500
= 65,000
Al 32,500
308 AtXISHHMS0IH 97,500 90,000 7,500
= 65,000
Al 32,500
01 AXSHHINEERZ 97,500 90,000 7,500
OMEIHnetME & X XA 97,500, 000& 97,500
= 65,000
Al 32,500
MEf2ZXLE 01808 2= 184,500 0 184,500
= 123,000
Al 61,500
308 XtXISHMSOI& 64,500 0 64,500
= 43,000
Al 21,500
01 AXESEHBHEES 64,500 0 64,500
OMH22ZXS XNE & =4 K& 64,500, 000& 64,500
= 43,000
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Al 21,500
403 XHXI S H S X2 0| & 120,000 0 120,000
2 80,000
Al 40,000
01 HXSAT2EE 120,000 0 120,000
OMEIZZME L H2E 28 A 120,000,0002 120,000
2 80,000
Al 40,000
HH2 YA 31,835 31,835 0
A (MEEAD) 31,835 31,835 0
SN2 31,835 31,835 0
201 LBt bl 18,150 18,150 0
01 Ab 22l 18,150 18,150 0
ORMN2Y+EH 9,750, 0002 9,750
o2zl 8,400, 0002 8,400
202 01t 8,885 8,885 0
01 2UholHl 8,885 8,885 0
OBFBH JIZAS 20l 8,885, 0002 8,885
203 & 2 E b 4,800 4,800 0
04 RARYARFTY) 4,800 4,800 0
ORNSgARETY| 400,000%! * 128 4,800
WeEs(MeeBY) 277,730 284,525 £6,795
TES I 277,730 284,525 £6,795
RN 277,730 284,525 £6,795
705 £SR3 277,730 284,525 £6,795
03 Al - SXSIHLIIZH SRS 4 & 271,800 271,800 0
O HIHOIDH MEHER L =XHA
271,800,000 271,800
04 Al - S XN 120 43 0| K & & 5,930 12,725 £6,795
O HOHOIDH MEHER L =XHA
5,930, 0002 5,930




